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Intro

Today we will 1”va learn X" 97 of 711 noon
Some of the topics we will learn about include.

The Machlokes *x»w na and 550 2 regarding wipn
myv3, a person who makes an erroneous wpn, does the
wpn take effect or NOT?

The discussion in the Mishnah's case of

PURT TN KXW NNV N0 IOR

WIPANIN I

125 R¥N

A person who stated: The black ox that is the first to leave
my house shall become wpn. But then a white ox
emerged.

The Gemara’'s initial understanding that the 125 mw
becomes wTpn.

R0O 17's explanation that the first 7w 1w becomes wWpn.

7KR’s explanation that the 125 91w becomes wpn, if the
wpn was made in the afternoon after they already came
out.

Some of the terms and concepts we will learn about
include

annn

There is an Issur of 77N, to transfer wipn from a Korban
onto a P50 nna. If one did make a 7won, the wpn is
transferred. However, the original Korban also remains
wpn. Both animals are w7pn, and he is punished with
Malkos.

myvaanmn

The Gemara in Masechta 77on Daf v states

7N TNV VY

If one makes a 77n erroneously, the w7pi is still
transferred, and he is punished with Malkos, because the
Pasuk states

WP 7P INMM R

The word 77 is superfluous and teaches that a »w is
considered as a 7.

1371 27 explains that myva 7mmn would be in a case of
125 R AW > N0

He intended to say, the black cow shall be 77, but
instead he stated, the white cow shall be 77n. The white
cow then becomes 70, and he receives Malkos.

1o PYa wIn
The question of whether wpn is made no’ py3,
generously, or 7v7 Y3, sparingly
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Wachlokes AL and 1. NP

MYV WTPN

INT N NYW MR MY N
BIPM NI
125 N¥"

ARLUAIL

MYV NNON

WMTPN
nDY Y2

Nazir 31-1



-
Yecheskel
Dedicated By:

LR

So let'sreview ...

Zugt Di Mishnah

DIVINRDY 171

WIPI MYL WIPN

An erroneous wTpn IS effective.

DR 772

VIPA PR

An erroneous wpnis NOT effective.

And the Mishnah elaborates

T3

WIPIRITI PORT TV RIW NNY N IR

115 R¥

A person stated:

The black ox that will leave my house first shall become
wpT; but a white ox emerged first.

WIPN DR ORDY 12

WIPTIPR DWIR 550

The 'xpw n*a hold that the 135 77w DOES become wpm;
and the 5511 12 hold that the 125 91w does NOT become
wIP.

Similarly

WTPR RN PORT T YW 30 0T
9035w 1o

Ifhe states: the gold 937 that I pick up first shall become
wipn, but then he picked up a silver 7r;
The 'xpw na hold

WP

The qovo 917 DOES become wpn.
While the 551 2 hold

WIPN PR

The qoo 717 does NOT become wpi.

Similarly

WP NI ANURT T TN P YW an
MY S NS

If he states: the barrel of wine that I pick up first shall be
wipn. But he picked up a barrel of oil.
The mnw nahold

v

The 1w 5w °an DOES become wipn.
While the 551 2 hold

VTP PR

The 1w Sw an does NOT become wpn.

DafHachaim.org
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The Gemara initially understands the Machlokes as
follows:

The *8pw 2 hold that the 125 1w that comes out first
becomes wpn, because

wIpn nonn o

WIPN ON

Creating w7pn is compared to 7m»n, transferring wpn.
mMYvV21YOR TP I

MY YoR WP IR

Just as an erroneous 1N takes effect, an erroneous wWIpN
takes effect.

While the 551 2 hold that the 125 17w does NOT become
wTpn, because

WIpA NoNn oY RS

WIPN ON

Because

RllaiaRbUo AT

MLV WIPR MR YaR

I RS

770 CAN transfer an existing wpn even myva. But, a
new WIpi cannot be created myva.

However, the Gemara then questions w3, that our
Mishnah’s case of pwr3 man kxw W M CANNOT be
compared to myva 7 WHN, because, as Tosfos explains;
IBNY HTRY

PIT PRYRPH IR ANHNAT

PI2T PIMNO IR R

myva nnn takes effect only when it concurs with his
statement, even though it does NOT concur with his
intentions, as in the case of

125 R AW 5 N0

He intended to say, the 1w w shall be 7700, but instead
he said the 135 77w shall be 77n; the 125 MW becomes
7N, because that's what he stated, even though his
intentions were for a 7w M. However, where he said
DY7¥AY T NN MO0

The 70 should take effect at mzn, for example; it cannot
take effect before noon, because that would contradict his
statement. So too, in our Mishnah where he said 2nw M,
the 125 mw CANNOT become w7, because that contra-
dicts his statement.

The Gemara init
undlerstandy the W, keey:

QYN A" QYN N 12

PN N wpn

/9/7/2

/@/ s p> 4/0// p> Aoy //d/
WTPN NONN NN N
WTPN NMON mMyLv21 197DR

wwgm gh WTPN xR
myvawTpR MR YV 197DR

1PNNN RS

2

°

PWRT 2120 ROW NNY N
CANNOT be compared to myv2 NN
Because, wﬁaﬂy explain;

O9IMNNS M7 HS
937 PHYPH VO DINHN37
Y937 PODID PO 1H

Ay in the case g However
NNW I NI0D Nt NNN NT N

125 MmN ornoxnd
The s/ ¢ Tt cannat take efffect

becomes Ppp 6 7&’ e noon,

ecause because that wodld
that’s what he stated contradict hiy statement

So tw, in our Wishnak
?%0/,3 4

CANNOT become lp>
because that contradicty
hiy statement
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. Therefore, o9 17 rejects the Gemara’s initial understand-
ing, and the 125 7w does NOT become wTpn even accord- 200 hay a dillerent m/erﬂ‘@m/m?/

% the Machlokes:

ing to "W 2. And 895 27 has a different understanding
of'the Machlokes:

WP RN PORT D RPW NIV NV IR

125 K37

WIPN DIMIR ORDW N2

VTP PN BTN NRT NN NXW NAY N N

The 8w 1 hold that the first Wnw 1w to emerge wﬂpn x‘n ﬁjn

becomes wTpn, because that's what he said - he stated

Jnw, and I:‘? KY'W

ORI IRI PO

NORT RPWID

He added the word 7w to say that the Wnw 71w which DRIN A" DY R 1Y

will precede all other o wnw o mw shall become wpn. ]

While the 551 "2 hold wﬂpn i 8 Wﬂpn

The first 7w 1w does NOT become w7pr, because The first MY NV The first MY MW

TWRIL RYW "R

it does not to emerge

This is NOT what he said - and we cannot interpret his become OTPN becomes wTPN

words this way, because the word pwxa implies preceding

ALL o, and only the word pwxa1 implies preceding

SOME oo, PORMRYY IR ORI INRIPY
. And even though according to *®nw n°a this wpn WAS n’b M ]11’)&1 Ny’mjb

7m>3, intentional? However, the Mishnah calls this a w7pn y0k> imbli

myv because ecé/ % Y

RIP PNTTS YORT DWW precedny P The Mishnahy cally thiy

His literal statement implies o mw 535, while it is

, @ because
interpreted to mean MWW DMV, A {@/’)3)

AP o/ 2VlEs pry
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According to this understanding, our Mishnah is not a
case of actual myva wTpn, and does not indicate that n°a
RpW hold

WIPR N MYV WITPN

Therefore, X090 17 initially held that =W nva agree that
WTPR A RS MYLI VTP

However, the Gemara cites a later Mishnah that DOES
prove that the *X»w n*a hold

WIPR N MYV WTPN

In a case of

T30 X2 TARYI A7 Pa5Am PR

Six people were walking together and they saw a person
coming towards them.

TAR ION

MO0 MY PRV

The first person stated: I shall be a Nazir, that this is so and
s0, as Tosfos explains

R)7 17272 DR

He accepts the m7'11 with the intention that he is correct.
IR TN

MHO T PRY P10

The second person stated: I shall be a Nazir that this is
NOT so and so.

The third person stated:

P10 TARY PPN

I shall be a Nazir that one of you became a Nazir.

The fourth person stated:

P10 TR PRY

I shall be a Nazir that one of you did NOT become a
Nazir.

The fifth person stated:

DN DIIVY

I shall be a Nazir that both of you became o33,

The sixth person stated:

D71 DOMW

I shall be a Nazir that ALL of you became o1.

The Rnow a1 say

jalaii 3 abi)

ALL six people become o711,

RIT MYV WTPN R R

D1 0919 I

This is a case of myv WP, because one of the first two
people was certainly wrong, and even so he also becomes
713? Therefore, we must say that "X»w n»a indeed hold
WIPN N MYvA WP

Dedicated By:
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NOD 1) initially held
INDW 2 agree that
WTPN NN RY MYV WTPN
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P NA
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a3 9T a3 9T a3

QONYY  DONIANNY  DOR NNY
oMM a3 a3

MWDV 172 Say

2% a5
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Therefore, it's more 72non» to say that this is the reasoning
of "Rpw 173, as the word 735 indicates. And X090 17 agrees
with the Gemara’s initial understanding that the 125 W
does become wTpn, because WA N MYV WIP.

And as Tosfos explains, our Mishnah'’s case is not
considered to be contradicting his words, because
2752 W97 TWOR

We can interpret his words as follows:

He initially intended to be w7pn»

NORY TN RPW N0

The first 7w regardless of its color - and he added the
word Wnw only because he assumed that the first ox
would be black. Therefore, the 'Row na say that the 125 W
becomes wTpn, because

WIPR M MYV WTRN

And this is a case of Y727 P7py;

It concurs with his words pwx1man R¥w w; and the
word MW is a myv.

So too, in the case of 011 Tww, we could say that he
initially intended to be a Nazir regardless of who was
coming towards them, and he added *n5o mw only because
he thought he recognized him from the distance.

However in the case of

oPR3AY 7 00N P IR

1727 WD TWOR R
His words CANNOT be interpreted to mean 70 in the
morning.

DafHachaim.org

Therefore, £06 > agrees

with the Gemara'y initial m/em‘am/o'n?/

QYPIN "N

wIpn N

QY9I N 1D
wIpn

The 129 MW
becomes WTpN

myva WTPN
WTPN MM

O PPN 170 INH

oM N oM DEE
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However, »ax maintains that the above reasoning only
applies if our Mishnah refers to a case of

IR RITVIDNRPT

VIR WY ORI TN RV NI W0

He made the wpn during the afternoon, AFTER the

o mw were all out, and he stated: the Wnw hw that CAME
out first shall be wTpn.

291725 75 1R

2931257 RIVT MR PAY IR

NV MR R

When he was told that a 125 " came out first he said, had
I known that it was a 125 17w I would have never said "
nnw.

This IS a case of myva wpn, because

37 w155 TWOR

We can interpret his words as follows:

He initially intended to be w7pn»

PORY T RV MW

The first 17w regardless of its color - and he added the
word 1w only because, as Tosfos says;

M0 NP2 mYw

He assumed that the Wnw 77w had been the first, because
he thought that he recognized its footsteps.

Therefore, the *Niw 1 say that the 125 7w becomes wIp7,
because

WIPN N MYV VTN

And this is a case of 1127 P7pw;

It concurs with his words pwx7 1an k2w w; and the
word MW is a myv.

And the 557 ma say that the 125 9w does NOT become
wTpn, because
WIpN M RY MYva WIPN

However, as Tosfos explains according to »ax, the above
reasoning cannot be used in the case of

IR RIOXA DR}

WIPANPY PORT IO RV INW N

125 K37

If he made the w7pn in the morning, BEFORE the o mw
were out;

127 wI9Y TWONR R

His words CANNOT be interpreted to mean that he
wanted to be wTpn any NWRI I XYW N, regardless of
color, because if so, why did he state 1/nw mw? And it
CANNOT be that he assumed the 2w mw will exit first,
because, as Tosfos says;

MTNYRYTY IR

He CANNOT foretell a future event.

Therefore, we must say that he specifically meant mw
nw only, and even according to *Xiw n°a the 125 W does
NOT become w7pn, because it would be

1327 PImo.

il mainiaing

The above reasoning only applies
if our Mishnah refers to

MR A TRD MR D0 RDT
NNV NV NNW NY
NMORT AN RW NORT NI R
WTPN NNO WTPN NNO
125 R PD1125 Y 1IN
PO MR
Wt & PD11297 RIYT NN OR

3) Y
s 0o NNW MINR RY

Yl l5p
because
/7223 &&/7?(),&’

Q"IN A" Q"IN 22
VRPN N whpn

Y é;?/')s) Y é;/)a
69/')3) o) /.’/ é;/)s) o)
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